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e 3y Ehikkil

(What is t@@number formed

f\ from7,0,1, 2 and 37?)

10237 (JNV 2006)(JNV 2008)

. L (a) 10372

037 (b) 10237
a %@ (c) 73210

(d) 12370
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DR S 73.5 + 0.5 0.2 - 0.05 P
’\)307\&.\;\ TR PR UR T TIXUITH 37T 82

(What is the result of simplifying the

\,(,’o exn,ression 3.5+0.5%x0.2-0.05?)
LI 1 (1) 1.35
A= 0= (2) 1.25
@ 005 (3) 0.35

Y (4) 1.45
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15+ 04 -
-(15.09 (Convert the fraction@o &
W\‘ decimal number.)
-0

(A)150.4 U8) 15.04
(C) 1504 (D) 1.504
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(If 19 - 15 + 5 x 3 = %, then the value of x
is)

9- @'*\ (1) 16

19-9 == \_(2) 10

, (3) 19

(4) 13
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(Q.6)_Tf¢ T Ot Dt TP YSIl U
(Z‘(uom) Eﬂ'ﬂ:ﬁwa\_ﬂﬁ, ?ﬁﬁ?m
3 SITQT

\A ) (If each@of a square is?doublea the
Ao

;& area of the square will increase to):
Qa _—@ aj\:axl__\., (A) 2 7T (2 times)
~ (B)3T[HT (3 times)

{C) 4 [T (4 times)

(D) 8 1T (8 times)
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0.7 ﬁ#ﬁ W%Wﬁﬁﬁ %\'
2004
an‘\fzo1o$aﬁir

Profit (in Crorcs) (M (13 H)
o}
e

W
Q
rrrrrrraTarnrs

200"’ 2003 2004 20'05 2006 20'07 20%08 20}09 2010
Y ecar (a'&)

\‘(/) A)40Cr (B)30Cr (C)50Cr (D)90Cr
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IR % A90
An angle is three times half of a right

\

o angle. Find itsGupplement:
wﬁmmﬁm%ﬁ\mﬁm?ﬂq %l

TR DIV P |

0 -yexX3 (A) 90°

Q  _ ~ (B) 135 °

N\ 'RQ = _‘_}i o
il )35 (C) 145

> Sletp /@ _4D) 45 °
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'S " Tahle

(' Q.9) The sum of the first six multiples of &

) is?

8% UY" @a’_@ﬂwé?

R 16,39 32 Y0,4g i \tA) 168
(C) 166

(B) 164

(D) 158
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cLass
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